
Task: LAS

Cakes

Training Camp, , Day 5. Source file las.* Available memory: 128 MB. 10.07.2015

At the gala dinner at the end of this year’s Byteotian Sweets Amateurs Get-Together, n gluttons sat at a
round-table. Soon afterwards, n cakes were set on the table. The cakes differ in size, appearance, and flavor,
but for the cakes it is the caloric value (ci for the i-th cake) that is of biggest importance. The table has been
set in such a way that there is a cake between every pair of adjacent gluttons. Each glutton can choose one of
the two cakes next to them. A cake claimed by only one glutton is theirs alone. However, if a cake is claimed
by two gluttons, they have to share it equally.

Each glutton wants to maximize the caloric value they receive from their chosen cake, which is halved if
they only half the cake. A glutton would be dissatisfied, were they to choose wrong, i.e., if they would have
more calories, had they chosen otherwise (assuming others do not change their decisions). Help the gluttons
make their choices so that none of them is dissatisfied.

Input

The first line of the standard input contains a single integer, n (n ≥ 2), that specifies the number of gluttons
(and cakes). The second line contains a sequence of n integers, c1, c2, . . . , cn, separated by single spaces; the
caloric value of the i-th cake is given by ci. We assume that the i-th glutton (for 1 ≤ i < n) can choose either
the i-th or the (i + 1)-th cake, whereas the n-th glutton can choose either the n-th or the first one.

Output

If the gluttons cannot choose their cakes so that each and every one of them is satisfied, then the first and
only line of the standard output should hold the word NIE (Polish for no). Otherwise, the first and only line of
the standard output should hold a sequence of n integers separated by single spaces; the i-th of these integers
should specify the number of the cake to be chosen by the i-th glutton. If there is more than one correct
answer, your program can pick one of them arbitrarily.

Example

For the input data:

5

5 3 7 2 9

the correct result is:

2 3 3 5 1

Grading

For all subtasks it holds that 1 ≤ ci ≤ 1 000 000 000.

Subtask Conditions Points

1 n ≤ 20 20
2 n ≤ 1000 30
3 n ≤ 1 000 000 50
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